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ConTaINS11(w[1..n]):
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last2 « w[1]

else
@] lastz — wli—1]- w[i]

iflast2= 11
found « TRUE

return found
q 5[q,0] 6[q,1] q 5[q,0] 6[g,1]
(FALSE,¢) | (FaLsk,©) | (FALSE,1) (TRUE,¢) | (TRUE,0) | (TRUE,1)
(FALSE, 0) | (FALSE, 00) (FALSE, 01) (TrRUE, 0) | (TRUE,00) (TrRUE, 01)
(FaLSE, 1) | (FALSE, 10) (TruE, 11) (Trug,1) | (TRUE,10) (TruUE, 11)
(FALSE, 00) | (FALSE, 00) | (FALSE,01) | (TRUE, 00) | (TRUE, 00) ;| (TRUE, 01)
(FALSE, 01) | (FALSE, 10) (Trug, 11) (TrRuUE, 01) | (TRUE, 10) (TrUE, 11)
(FALSE, 10) | (FALSE, 00) (FALSE, 01) (TRUE, 10) | (TRUE, 00) (TRUE, 01)
(FaLsE, 11) | (FALSE, 10) (Trug, 11) (Trug,11) | (TRUE, 10) (TrRUE, 11)

Our brute-force DFA for strings containing the substring 11
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